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—, HEFBER:
1. 40 A
L4 (63x100-60x 100) + (70-60)=30 (\)
B4 100-30=70 (\)
70-30=40 (\)

2. 8K

SR IO A A0 2 %, R AR R B 7 24 CEF1—21) 191,
MARER TETF 184, ATNAKT 18+2=9 (/)

MERR T —NAT, ZEE R SEFR R 3 MR RRRZ A, it
I (9-1) + (3-2)=8 (%)

3. 2570
(185-4x8) + (5+4) +8=25 (JT)

4. 153k
(20x8-100) + (8-4)=15 (k)

5. 6K
(112+14x20-112) + (20-12) =6 (K)

6. 234
299 = (2x4+5)=23 (4)

7. 103k
(10x50-240) + [10-(2+5) +2]1=40 (5K)
[ 240-(2+5) x (40+2) ] +10=10 (3k)

8. 4K

XTI TR BN 36 4y, AR 3 4y, LBERML 2 4, FSEM 4 R, 27 12
KA FERL.

9. 63k

an#K 4 73 HB5E, JEH 4x 15=60 (43) , L2 4% 100-60=40 (43). K—5K 1 ff
MEEE, WTLAAK 40 434 1 ff, B2 6 43, 40 +6=6-----4, 5L 2 K 6 iK. B5 2 A 4 47,
b5k 4 73 BREE AR LF K —5K 8 73 S,

10. 703k
4 43 (680-8x 40) + (8+4)=30 (5K)
8 43 :30+40=70 (5§)
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1. 76 1,5 124 H.
21 (200456 +2) + (2+1) =76 (H
W :200-76=124 (L

2. 17TH
(0. 2x2000-379. 6) + (1+0. 2)=17 (K

3. 16
76 73 ELiii oy 2> 24 o3 ABCHE 8L 6 g, AMED 5 91, 24 73 I REMT 4 8 R4
BAT N, 16 RN

"/

4. W 8k, &b 6 K.

B 10 &, Z#d 14-10=4(K). T3 4 x 10=40( %), Z 13
5x4-3x6=2 (4}) . W& AT “H L £ 2 10 4374 %5 (40-2) -10=28 (43), /b 1K,
> 4+42=6 (4y), LVIHE NN 5+3=8 (43). 28+ (8+6)=2. 10-2=8 () -+-+-- i
14-8=6 () ++-++ .
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